Umkehrfunktionen Losungen—+

Aufgabe 1
fry=2+4+3
r=y+3
fliy=2-3
Aufgabe 2
fry=3x-5
rT=3y—0>5

-1, _ 1 5
f .y—gx—i‘g

Aufgabe 3
fry=—x
T =y

f':y=—z (Involution)

Aufgabe 4
fry=—z+4
r=—-y+4

f'iy=—-2+4 (Involution)

Aufgabe 5
f:y:—§$—|-8
r=—3y+8
3r=—-2y+24
2= —-3x+24

. y:—%x+12

Priifungsvorbereitung



Aufgabe 6

fry=a*+1
r=1y"+1
y2:x—1

f_lzy:\/a:—l

Aufgabe 7

fry= 22+ 20+ 7
r=y"+2+7
r=y"+2y+1°—1*+7 (quadratische Erginzung)
r=(y+1)>+6

(y+1)°=2-6
y+1=++vx—6 (wihle positiven Teil)
f_lz Yy = Vi—6-1
Aufgabe 8

fry=a®>—6x+1
r=y>—6y+1
r=19—6y+(—3)" - (-3)+1 (quadratische Erginzung)
r=(y+(-3))? -8
(y—3)*=z+8
y—3==xVx+8 (wihle positiven Teil)

fflry=va+8+3
Aufgabe 9
fry=a*+4x
x:x2—|—4y

r=19y?+4y+2° —2? (quadratische Ergiinzung)
r=(y+2)°—4
(y+2)2=x+4
y+2=+vVz+4 (wihle positiven Teil)
fly=vVro+4+2

Aufgabe 10

fry=2a°

r =y’

fﬁl:y:%:x%



Aufgabe 11

1
fry=—
x
1
r=-
Y
yr =1
1 1 .
f:y=— (Involution)
x
Aufgabe 12
2
fry=—-
x
2
r=——
Y
xy = —2
2 .
y=——(Involution)
x
Aufgabe 13
1
fry=——
1
r=—-
y—1
rly—1)=1
1
y—1=-
x
1 1
Jliy=—41="0
x x
Aufgabe 14
r+1
fry=
x
y+1
r="—
Y
ry=9y+1
zy—y=1
ylr—1) ==z
_ x
Loy =

z—1



Aufgabe 15

T+ 2
f'y_:v—l
$_y+2
_—y—l

zy—1)=y+2
Yy —x=1y+2
ry—y=x+2
ylx—1)=x+2

T+ 2
z—1

iy =

(Involution)



